' INSI'RLEI‘IO’\IS 'Each equatlon below contains the initials of words that will make it
correct. Find the missing words. For exanple :

26 - L of the A would be 26<Letters of the Alphabet

1. 26=Lof the A

2. 7=Wof theA W
3. 1,00l=AN___
4, 12 —~S of the Z -

5. 54 = ‘CmaD(w:.ththeJ)
6. 9=PintheSS

7. 8=PK

8. 13=SontheAF
9. 32=DFatWF
10. 18 =Hon the GC
11. 90=DinaRvA
12, 200 =D for PG in M
13. 8=Sonass_
4. 3=BM (SHTR)
15. 4=QinaG
16. 24 =HinaD

17. 1=Wonaﬂ

18. 5=DinazC
'19. 57=HV

200 11 -PonaPFT

21. 1,000 W that a P is W
22, 29=DinFinaly
23. 64 =Sonadc

24, |

40=Dand Nof the G F
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correct. Find the missing words. For example:
26 - L of the A would be 26=Letters of the Alphabet
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